
by
Francis Roads

based on British folk dance melodies

for 
Oboes 1 & 2

(doubling Cors Anglais)

Cors Anglais 1 & 2

Clarinets in A 1 & 2

Horns in F 1 & 2

Bassoons 1 & 2

A companion piece to Mozart's 
divertimentos K. 166 and 186,

which have the same instrumentation
 

Duration 12½  minutes
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              

              
               

        
                         
          

               

           
           

                          

                     

                 

             
            

           

                      
 

     
 

                     
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





























Ob 1

Cl 1

Hn 1

Hn 2

Bn 1

Bn 2

O

p

p

p

p

p

V.S.

CA (Ob 1)

CA (Ob 2)

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

f

109

f

f pp

f pp

mf

mf

f pp

f pp








            Tempo di valse q=140



                 

     
   

       
                 

 

 
Cor Anglais

  


Cor Anglais

  


   

   
   

               

               


      

       

                      

                          

                         

                         

                    

             

          
                        

                      
                    

                   

            
 


 


 

 

     


                
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



































CA (Ob 1)

CA (Ob 2)

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

f

P
117

f

p f

p f

p

p

p f

p f

CA (Ob 1)

CA (Ob 2)

CA 1

CA 2

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

p

126

p

p

p

pp

pp

f

f

pp

pp

        

        



                
                 

     
           





   

   

       

       

   

   
   

                

            
   


      

       

  

  
                         

                                 

                            
                             

                        
                        



            
            

 
 

                        
 

                    

                
                

          
 


 


 

    

 
 

                   
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































CA (Ob 1)

CA (Ob 2)

CA 1

CA 2

Hn 1

Hn 2

mf p

Q

mf p

mf p

mf p

pp

pp

CA (Ob 1)

CA (Ob 2)

CA 1

CA 2

Hn 1

Hn 2

mf p mf

142

mf p

mf p

mf
p mf

pp

pp

V.S.

CA (Ob 1)

CA (Ob 2)

CA 1

CA 2

f

R

mf f

mf f

f









      

       




 

 




    
    









                  

                       

                     

                    

 
 

                  

                    

                      

                   

            

                      

                           

                    

                      
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








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CA (Ob 2)

CA 1

CA 2
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158

mf

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

mf

S

mf

mf

mf

mf

Cl 1

Cl 2

Hn 1

Hn 2

Bn 1

Bn 2

f pp

173

f
pp

f

f

pp

f pp


 To Ob.

  To Oboe

 




     
     

     

     


   





     

  
   

   

    
   

      

       

                 

                     

                       

                  

     
    

         

         

                   
             
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